
GTRX-SDMT

Parts List

Item Qty Part Name

1 1 GTR ENGINE MOUNT BODY

2 1 DOWEL PIN SS

3 1 M10 x 1.25 x 40 STUD GRADE 10.9

4 2 M10 WASHER 10.5 x 20 ZINC

5 2 M10 x 1.25 NYLON LOCKNUT ZINC

6 1 M10 x 1.25 x 55 STUD GRADE 10.9

2

4

5

3

TIGHTEN TO 52 Nm (38 ft lb)

TIGHTEN TO 33 Nm (24 ft lb)
USE OF MEDIUM STRENGTH

THREAD LOCKER RECOMMENDED

TIGHTEN TO 33 Nm (24 ft lb)
USE OF MEDIUM STRENGTH

THREAD LOCKER RECOMMENDED

TIGHTEN TO 52 Nm (38 ft lb)

6

4

5

1


	Sheets and Views
	GTRX-SDMT - Customer ASM


